
SAP ABAP table GRISDET {Summary Table for Insurance (DE) - Rollup}

GRISDET

RCLNT [CLNT (3)]

RLDNR [CHAR (2)]

RRCTY [CHAR (1)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

ROBJNR [CHAR (18)]

COBJNR [CHAR (18)]

SOBJNR [CHAR (18)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

DRCRK [CHAR (1)]

RPMAX [NUMC (3)]

RBUKRS [CHAR (4)]

RBUSA [CHAR (4)]

RVSARL_VX [CHAR (6)]

RFUBER_VX [CHAR (3)]

RBEBER_VX [CHAR (3)]

RRSART_VX [CHAR (2)]

RGZART_VX [CHAR (2)]

LOGSYS [CHAR (10)]

RMVCT [CHAR (3)]

LAND1 [CHAR (3)]

SBUSA [CHAR (4)]

CSPRED [CHAR (4)]

QSPRED [CHAR (4)]

T000

MANDT [CLNT (3)]

 GRISDET-RCLNT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GRISDET-RBUKRS = T001-BUKRS 

0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 GRISDET-LAND1 = T005-LAND1 

0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 GRISDET-RUNIT = T006-MSEHI 

0..N

1

T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 GRISDET-CSPRED = T821S-SPRED 

0..N

{0,1}

 GRISDET-QSPRED = T821S-SPRED 0..N

{0,1}

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GRISDET-RMVCT = T856-TRTYP 
0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]
 GRISDET-RLDNR = T881-RLDNR 0..N

1

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 GRISDET-RVERS = T894-RVERS 
0..N

1

TBDLS

LOGSYS [CHAR (10)]

 GRISDET-LOGSYS = TBDLS-LOGSYS 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GRISDET-RTCUR = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GRISDET-RBUSA = TGSB-GSBER 

0..N

{0,1}

 GRISDET-SBUSA = TGSB-GSBER 

0..N

{0,1}

TLXXBEB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BEBER_VX [CHAR (3)]

 GRISDET-RBEBER_VX = TLXXBEB-BEBER_VX 

0..N

{0,1}

TLXXFUB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

FUBER_VX [CHAR (3)]

 GRISDET-RFUBER_VX = TLXXFUB-FUBER_VX 

0..N

{0,1}

TLXXGZA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GZART_VX [CHAR (2)]

 GRISDET-RGZART_VX = TLXXGZA-GZART_VX 

0..N

{0,1}

TLXXRSA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RSART_VX [CHAR (2)]

 GRISDET-RRSART_VX = TLXXRSA-RSART_VX 

0..N

{0,1}

TLXXVAL

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VSARL_VX [CHAR (6)]

 GRISDET-RVSARL_VX = TLXXVAL-VSARL_VX 

0..N

{0,1}


